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ASSIGNMENT
Multiple choice questions:
SUBJECT: IT
1. A circular or notice may be issued by only designated for the purpose
(A) Peon
(B) Clerk
(C) Typist
(D) Officer

2. The language of the report should be
(A) Formality
(B) Formal
(C) Casual
(D) Loose

3. It is the vital part of the letter which to as good as wishing the person.
(A) Salutation
(B) Enclosure
(C) Subject
(D) Reference

4. In the writing of an apology letter, concentrate on
(A) Problem
(B) Compensation
(C) Rectification of problem
(D) Words

5. In the structure of the business letter what comes first.
(A) Reference
(B) Date
(C) Salutation
(D) Heading



SUBJECT: ENGLISH

. The poet sees before him

a) a yellow forest and roads

b) two roads crossing

c) adense forest

d) two roads diverging in a forest

. The poet decided that
a) he would take the second road and leave the first one for some other day
b) he would take the frequently trodden road

c) he would go back and decide later on

d) he would take the first road

. ‘Leaves no step had trodden black ‘ implies:

a) that the road was not taken by anyone

b) that it was not a safe road

c) that the poet was not interested in taking the road
d) None of the above

. Should ever come back ‘ shows that the poet was ;
a) confident

b) indecisive

c) optimistic

d) pessimistic

. What has made all the difference in poet’s life ?
a) choosing a travelled road

b) choosing a less travelled road

c) By not choosing any road

d) By not being weak
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SUBJECT: MATHEMATICS

. Which graph is parallel to x-axis?
() y=x+1
(b) y=2
(c) x=3
(d) x=2y
. Which point lies on x-axis?
@ 3.2
(b) (-:3,2)
(©) (2.0)
(d) (-1.-2)
. Which point lies on y-axis?
@ (1,3)
(b) (0,3)
© (5.2
(d) (-2.-3)
. Which point lies to the right of y-axis?
(@ (0,3)
(b) (-2.-1)
(©) 3.5)
(d) (-3.-2)
. Which line is parallel to y=x-2?
(a) y=2x+1
(b) 2y=2x-6
(c) 2y=x+7
(d) y=3x+1



SUBJECT: PHYSICS

1. Suppose a boy is enjoying a ride on a marry-go-round which is moving with a
constant speed of 10 m/s. It implies that the boy is:
(a) At rest
(b) Moving with no acceleration
(c) In accelerated motion
(d) Moving with uniform velocity

2. Motion along a curved line is called

(a) Rectilinear motion
(b)Circular motion
(c)Rotational motion
(d)Oscillatory motion

3. A particle is moving in a circular path of radius r.

The displacement after half a circle would be:

(a) Zero
(b) TIr
(c) 2r
(d) 21mr

Q4 . The S.1 unit of pressure is

(a) newton
(b) dyne
(c) m/s

(d) pascal

Q5. Which of the following is a scalar quantity

(a) displacement
(b) acceleration
(c) force

(d) speed



SUBJECT: CHEMISTRY

. Air shows the property of :
(a) Oxygen

(b) Nitrogen

(c) Carbon dioxide

(d) All of the above

. Brass is a solution of molten copper in :
(a) Solid zinc

(b) Molten zinc

(c) Gaseous zinc

(d) Molten tin

.1 carat of diamond is equal to:
(a) 200 mg

(b) 200 g

(c) 100 mg

(d)100g¢g

. Diamond is lustrous because :

(a) It is colourless

(b) It is hard

(c) Itis pure

(d) Its refractive index is high

. If we burn graphite

(a) Residue will be left

(b) No residue will be left

(c) It will not burn

(d) It will change into diamond



SUBJECT: BIOLOGY

1. Which of the following has a perforated cell wall ?
a)Vessel
b)Fibre
c) Tracheid
d)Sclereid

2. In angiosperms xylem is made up of
a)Tracheids and fibres
b) Vessels and fibres
c¢) Tracheids and vessels
d) All of these

3. Atissue that does not contain Lignin
a)Xylem tracheae
b)Sclereids
c)Collenchyma
d)Sclerenchyma

4. External protective tissue of plants are
a) Cork and cortex
b) Cortex and epidermis
c)Epidermis and cork
d)Pericycle and cortex

5. The dead element present in the phloem is
a) Phloem fibres
b) Phloem Parenchyma
c) Sieve tubes
d) Companion cells



SUBJECT: CIVICS

. General Pervez Musharraf overthrew a democratically elected government and
declared himself the of the country.

A) Prime Minister

B) Chief executive

C) President

D) Military dictator

. Which of the following countries is not a democracy?
A) Great Britain

B) Canada

C) Myanmar

D) India

. In China, the National People’s Congress has the power to appoint the
of the country.

A) Leaders

B) Rulers

C) Governors

D) President

. Who passed the ‘Legal Framework Order’?
A) ZANU

B) Robert Mugabe

C) General Musharraf

D) PRI

attained independence from White minority rule in 1980.

A) Zimbabwe
B) China
C) Saudi Arabia
D) Estonia



SUBJECT: GEOGRAPHY

1. The formation of the Northern Plains of India is a result of extensive:
a. Gravel deposits
b. Pebble deposits
c. Alluvial deposits
d. Swamp deposits

2. 0Old Alluvial soil lying region above the flood plain region:
a. Khadar
b. Bhangar
c. Sediments
d. Igneous rocks

3. The total length of the Northern Plains is:
a. 2400 km
b. 2500 km
c. 2000 km
d. 2800 km

4. The breadth of the Northern Plains is:
a. 300 -370 km
b. 250 -500 km
c. 240-320 km
d. 310-320 km

5. Numerous channels of a river in its lower course is called:
a. Bhabar
b. Terai
c. Khadar
d. Distributary
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